
Subject: Re: Pregnancy History
Posted by waqas on Sun, 19 Jun 2016 17:58:25 GMT
View Forum Message <> Reply to Message

D'r Trever,

I am actually trying to develop some binary variable as below:-
Var1=If still birth=1 and 0 otherwise.
Var2=If miscarriage=1 and 0 other wise.
Var3=if Abortion=1 and 0 otherwise.

and a multinomial response variable as below:-

Var4=Livebirth=0
Var4=Miscarriage=1
Var4=abortion=2
var4=stillbirth=3.

Above outcome is explained in PDHS2013;Chapter Fertility; Page 80 Table 5.15. It is presented
there as Pregnancy outcome.

S228 is not developed for Pakistan. 

What would be its alternative in PKIR61FL file.

Thanksyou and regards,
Waqas Imran
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